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                  Задача                             
В вазе было 2 яблока, мама 
добавила еще 8 яблок.
Сколько яблок в вазе?



⚫                                    Задача.
⚫    Было-2 ябл.
⚫    Добавила- 8 ябл.
⚫    Стало-?
⚫    2+8=10(ябл.)
⚫    Ответ. 10 яблок в вазе.



1+10=              7+10=
2+10=              8+10=
3+10=              5+10=
4+10=              0+4=



10+1=              10+7=
10+2=              10+8=
10+3=              10+5=
10+4=               4+0=
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Кукуруза





        ЗАДАЧА 

3 КРАСНЫЕ  ?
11 ЖЕЛТЫЕ 



3+11=14(л)
Ответ. 14 лампочек.



11-    =10       14-   =10
13-    =10       12-   =10
15-    =10       16-   =10
19-    =10       17-   =10
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